ORDER #005435



Wife of the Party Inc. 318 S Date Ave Alhambra, CA 91803

PO: California Crown - Master List

Shipping Address:

Santa Anita Race Track: 285 W Huntington Dr, Arcadia, CA 91007 Order Date: September 21, 2024 Due Date: Upon Receipt

Description		Qtty	Price		Total
General					
	Slim Jim Trash Can w/ Cover Delilah Keeping as extra	2	\$20.00	Т	\$40.00
	Patio Umbrella - TBD Color W. Base ** Pending Confirmation **	20	\$125.00	Т	\$2,500.00
	Carpet - Juniper - 4000 sf	1	\$8,600.00	Т	\$8,600.00
	Carpet Protection - Plastic Film - 4000 sf	1	\$880.00	Т	\$880.00
			Total Gen	eral	\$12,020.00
Arrival - VIP					
	Carpet - Juniper - 10' x 20' Security check up to media tent	1	\$430.00	Т	\$430.00
	Carpet - Juniper - 32' x 49' Media Tent Area	1	\$3,371.00	Т	\$3,371.00
	Carpet - Juniper - 10' x 140' Walkway runner	1	\$3,010.00	Т	\$3,010.00
	Carpet - Juniper - 942 sf Lower Level Entry Foyer Area	1	\$2,025.00	T	\$2,025.00
	Carpet - Juniper - 6' x 50' Steps to second level	1	\$645.00	Т	\$645.00
	Royal Velvet Draping - Emerald Green - 20ft Cover Stairwell	1	\$400.00	Т	\$400.00
	Royal Velvet Draping - Emerald Green - 16' x 10'h Lower Foyer Cover Wall	1	\$320.00	T	\$320.00

Description		Qtty	Price		Total
	Decking - 16' x 4' x 12"h Media Riser - Lower Level	1	\$250.00	T	\$250.00
	Decking - 16' x 4' x 24"h Media Riser - Upper Level	1	\$250.00	Т	\$250.00
	Carpet - Juniper - 280 sf For Media Risers	1	\$602.00	Т	\$602.00
Business and the Public Control State Order (America)			Total Arrival - V	/IP	\$11,303.00
Apron					
	Stanchion, Chrome	10	\$17.50	Т	\$175.00
	Velvet Rope - Dark Green	9	\$20.00	Т	\$180.00
			Total Apr	on	\$355.00
Artist Compou	nd				
A	Ava Barstool, White Boucle - Flat Top	32	\$28.00	T	\$896.00
	Patio Umbrella - Natural w. Base Add Sand Bags	16	\$75.00	Т	\$1,200.00
	Mason High-Top Table - Gold/White Marble Sourcing *	16	\$225.00	Т	\$3,600.00
		То	tal Artist Compou	nd	\$5,696.00
Auction					
	Rope and Stanchion Retractable	29	\$40.00	Т	\$1,160.00
			Total Aucti	on	\$1,160.00
Chandelier Pat	io				
	Barstool - Chiavari - Gold w. Ivory Cushion	16	\$19.50	T	\$312.00
	Dining Chair - Chiavari - Gold W. Ivory Cushion	40	\$7.00	Т	\$280.00
	Slim Jim Trash Can w. Cover	2	\$20.00	Т	\$40.00
		To	tal Chandelier Pa	tio	\$632.00
Chandelier Roo	om .				
	Highboy Cocktail Table, 30" Rnd	12	\$15.00	Т	\$180.00
	Wilshire Sofa, Emerald 8ft	2	\$350.00	Т	\$700.00
	Wilshire Love Seat, Emerald 5ft	4	\$300.00	Т	\$1,200.00

Description		Qtty	Price		Total
	Barstool - Chiavari - Gold w. Ivory Cushion	16	\$19.50	T	\$312.00
	Dining Chair - Chiavari - Gold W. Ivory Cushion	16	\$7.00	T	\$112.00
	Stanchion, Chrome	20	\$17.50	Т	\$350.00
	Velvet Rope - Dark Green	19	\$20.00	Т	\$380.00
	Slim Jim Trash Can - w. Cover	8	\$20.00	Т	\$160.00
		T	otal Chandelier Ro	om	\$3,394.00
Chrome Heart	s - Box Seat				
	Ava Barstool, White Boucle - Flat Top	9	\$28.00	Т	\$252.00
	High Top Table - 30" Rnd	3	\$15.00	Т	\$45.00
	Linen - Pink Velvet - 120" Rnd	3	\$75.00	Т	\$225.00
		Total Chro	ome Hearts - Box S	Seat	\$522.00
Club 1 - VIP A	rea Entrance (Elevator)				
	Stanchion, Chrome	5	\$17.50	Т	\$87.50
	Velvet Rope - Dark Green	4	\$20.00	Т	\$80.00
	Carpet - Juniper - 20' x 22' 2nd Level Elevator Entrance to Club 1 Photo Finish	1	\$946.00	T	\$946.00
	Royal Velvet Draping - Emerald Green Dimm: 84' x 8.5'h (3) Pull Backs	1	\$1,680.00	Т	\$1,680.00
	Т	otal Club 1 - VIP Ar	ea Entrance (Eleva	tor)	\$2,793.50
Club 1 (Photo	Finish Room)				
	Stanchion, Chrome (30) Media Wall (6) Top of steps in Palm Frond Elevator	36	\$17.50	T	\$630.00
	Velvet Rope - Dark Green (29) Media Wall (5) Top of steps in Palm Frond Elevator	34	\$20.00	Т	\$680.00
	Banquet Table, 4ft	4	\$12.00	Т	\$48.00
	Linen - Black Poly - 4ft	4	\$25.00	Т	\$100.00
	Ava Dining Chair, Black Channeled Boucle - Flat	6	\$25.00	T	\$150.00
·	60" Premium Round Table - (Stock Pricing) Merch Activation	1	\$300.00	Т	\$300.00

Description		Qtty	Price		Total
	Los Angeles Bar - 6ft - Color TBD 12' of Bar Fronts - Logo Wrapped	2	\$275.00	T	\$550.00
	Full Wrap Bar Front 6ft 12' Bar Fronts - Logo Wrapped	2	\$150.00	Т	\$300.00
	Los Angeles Back Bar, White - 6ft Dimm: 72" x 12" x 84"h (5) Shelves " 12' of Bar Backs	2	\$250.00	T	\$500.00
	Banquet Table, 6ft - Schoolie "Need 6ft tables w/ black stretch linen to go below shelves or bars fo bartenders" May not be needed if we use bars because they have built in shelves **	2 r	\$15.00	T	\$30.00
	Linen - Black Spandex - 6ft - Schoolie	2	\$28.50	Т	\$57.00
	Royal Velvet Draping - Emerald Green Dimm: 550' x 20'h	1	\$16,500.00	T	\$16,500.00
	Carpet - Juniper - 20' x 155' Runs through Center Pillars	1	\$6,665.00	Т	\$6,665.00
	Carpet - Juniper - 20' x 60' For SnR	1	\$2,580.00	T	\$2,580.00
Security Condenses and Association Security of Condenses and Condenses a		Total Club 1 (Photo Finish Roc	m)	\$29,090.00
Clubhouse					
	Highboy Cocktail Table, 30"	12	\$15.00	Т	\$180.00
	Barstool - Chiavari - Silver w/ Ivory Cushion	36	\$19.50	Т	\$702.00
	Sim Jim Trash Can - W. Cover	6	\$20.00	Т	\$120.00
			Total Clubho	ıse	\$1,002.00
Clubhouse Balco	ony (La Margarita)				
	Draping - 208' x 7'h Off-White Velvet	1	\$4,160.00	Т	\$4,160.00
	Total C	lubhouse Bal	cony (La Margar	ita)	\$4,160.00
Dave & Busters					
	Draping - Black - 10' x 10'h Covers the back of LED Wall	1	\$120.00	Т	\$120.00
	Draping - Black - 20' x 10'h To close off behind games	1	\$240.00	Т	\$240.00
	Carpet - Cobalt Blue - 30' x 50' "Royal blue carpet"	1	\$3,225.00	Т	\$3,225.00

Description		Qtty	Price		Total
	Rope + Stanchion Retractable Set	16	\$45.00	Т	\$720.00
	Highboy Cocktail Table - 30" Rnd	1	\$15.00	Т	\$15.00
	Linen - TBC ?	1	\$28.50	Т	\$28.50
	Ava Barstool, Black Boucle - Flat Top	3	\$28.00	T	\$84.00
			Total Dave & Bus	sters	\$4,432.50
Delilah					
	Stanchion, Chrome Sub-Rental Rate	60	\$22.00	Т	\$1,320.00
	Velvet Rope - Dark Green 6ft Sub-Rental Rate	20	\$25.00	Т	\$500.00
	Velvet Rope - Dark Green 4ft	20	\$25.00	Т	\$500.00
			Total De	lilah	\$2,320.00
Delilah Area - (Belinda's Section)				
	Banquet Table, 6ft	2	\$14.00	T	\$28.00
	Linen - Pink Velvet - 6ft * TBD if Needed*	2	\$75.00	Т	\$150.00
	Slim Jim Trash Can - W. Cover	2	\$20.00	Т	\$40.00
	High Top Table, 30" Rnd	3	\$15.00	Т	\$45.00
	Linen - Pink Velvet - 120" Rnd	3	\$75.00	Т	\$225.00
	Ava Barstool, White Boucle - Flat Top	9	\$28.00	Т	\$252.00
		Total Delilah Are	a - (Belinda's Sec	tion)	\$740.00
Delilah - Flowe	r Photo Wall				
	Stanchion, Chrome Sub-Rental Rate	10	\$22.00	Т	\$220.00
	Velvet Rope - Dark Green Sub-Rental Rate	9	\$25.00	Т	\$225.00
		Total Delila	h - Flower Photo	Wall	\$445.00
Delilah Wagerir	ng				
	Clear Stool - TBD	2	\$25.00	Т	\$50.00
	Premium Bar - Pending Clarification	1	\$0.00	Т	\$0.00
		7	Total Delilah Wage	ering	\$50.00

Description		Qtty	Price		Total
Directors Room					
	Barstool - Chiavari - Natural w/ Ivory Cushion	24	\$19.50	Т	\$468.00
	Highboy Cocktail Table, 30" Rnd	12	\$15.00	Т	\$180.00
	Paige Bar - 6ft - *Custom Color Color: Hunter Green by Benjamin Moore	8	\$450.00	Т	\$3,600.00
	Ava Sofa, Cream 8ft	4	\$350.00	Т	\$1,400.00
			Total Directors Ro	oom	\$5,648.00
Exacta Eats					
	Patio Umbrella - Hunter Green 9ft With Base*	30	\$125.00	T	\$3,750.00
<u>'</u>	Los Angeles Bar - 6ft 6' of Bar Fronts. Logo wrapped Coconut/Tiki Bar	1	\$275.00	T	\$275.00
	Decal Full Wrap Front 6' of Bar Fronts. Logo wrapped Coconut/Tiki Bar	1	\$150.00	Т	\$150.00
	Los Angeles Back Bar - 6ft TBD Color 6' of bar backs. Ideally could be shelving units Coconut/Tiki Bar	1	\$250.00	Т	\$250.00
	Banquet Table, 6ft 6'-8' of Bar back tables. Need w. black stretch linen to go below shelves or bars to help bartenders. Coconut/Tiki Bar	1	\$15.00	Т	\$15.00
			Total Exacta I	Eats	\$4,440.00
Exacta Eats - Ap	oron				
	Los Angeles Bar - 7ft - Color TBD Bar Fronts. Logo Wrapped	1	\$350.00	Т	\$350.00
	Decal Full Wrap Bar Front Bar Fronts. Logo Wrapped	1	\$175.00	Т	\$175.00
	Los Angeles Back Bar - 6ft - TBD 28' of back bar. Ideally could be shelving units.	1	\$250.00	Т	\$250.00
	Banquet Table, 6ft - Schoolie 6 of Bar back tables. Need w. black stretch linen to go below shelves or bars to help bartenders.	1	\$15.00	T	\$15.00
	Linen - Black Spandex - 6ft - Schoolie 6' of Bar back tables. Need w. black stretch linen to go below shelves or bars to help bartenders.	1	\$28.50	Т	\$28.50
	Los Angeles Dj Booth - Black Gloss - 6ft	1	\$250.00	Т	\$250.00

Description		Qtty	Price		Total
		Tota	al Exacta Eats - Ap	oron	\$1,068.50
Exacta Eats -	Coconut Themed Bar				
	Back Bar - TBD - 6ft	1	\$275.00	Т	\$275.00
	Banquet Table, 6ft	1	\$14.00	Т	\$14.00
	Spandex Linen - Black	1	\$28.50	Т	\$28.50
	Bar - TBD	1	\$350.00	Т	\$350.00
		Total Exacta Eats -	Coconut Themed	Bar	\$667.50
Exacta Eats -	Merch Booth				
	60" Premium Round Table Stock Furniture	1	\$300.00	Т	\$300.00
	Draping - Black - 100' x 8'h	1	\$1,200.00	Т	\$1,200.00
		Total Exact	a Eats - Merch Bo	ooth	\$1,500.00
Lanai Room					
	Draping - Ivory - 40' x ?'h To cover windows view to inside room.	1	\$640.00	Т	\$640.00
			Total Lanai Ro	oom	\$640.00
Mainline					
	Carpet - Black - 16' x 35'	2	\$1,024.00	T	\$2,048.00
			Total Main	line	\$2,048.00
Mainline 3 H	yperice				
	Carpet - Black - 12' x 16'	1	\$412.80	T	\$412.80
550 DOS SOCIOS SOCIES SOCIOS S		Total	Mainline 3 Hype	rice	\$412.80
Mainline 4 Ex	xacta Eats - Photo Finish				
	Carpet - Black - 10' x 12' For 1/ST Bet Lounge	1	\$258.00	T	\$258.00
	Ava Dining Chair, Black Channeled Boucle - Flat For Caricature Artist	6	\$25.00	T	\$150.00
	Banquet Table - 4ft	3	\$12.00	Т	\$36.00
	Linen - Black - 4ft	3	\$28.50	Т	\$85.50

Description		Qtty	Price		Total
	Los Angeles Bar - 7ft 21' of Bar Fronts Logo Wrapped Bars @ Mainline 4	3	\$350.00	Т	\$1,050.00
	Decal Full Wrap Bar Front 21' of Bar Fronts Logo Wrapped Bars @ Mainline 4	3	\$175.00	Т	\$525.00
	Los Angeles Back Bar - 4ft Color TBD 21' of Bar Backs. Ideally shelving units Bars @ Mainline 4	5	\$175.00	Т	\$875.00
	Banquet Table, 6ft 21' of 6' or 9' tables w/ black stretch linen to go below shelves or bars to help bartenders Bars @ Mainline 4	3	\$15.00	Т	\$45.00
	Banquet Table, 4ft 21' of 6' or 9' tables w/ black stretch linen to go below shelves or bars to help bartenders Bars @ Mainline 4	1	\$12.00	Т	\$12.00
	Linen - Black Spandex - 6ft 21' of 6' or 9' tables w/ black stretch linen to go below shelves or bars to help bartenders Bars @ Mainline 4	3	\$28.50	Т	\$85.50
	Linen - Black Spandex - 4ft 21' of 6' or 9' tables w/ black stretch linen to go below shelves or bars to help bartenders Bars @ Mainline 4	1	\$25.00	Т	\$25.00
	Carpet - Juniper - 14' x 50' For SnR Area Exacta Eats	1	\$1,505.00	Т	\$1,505.00
	Rope + Stanchion Retractable SnR Exacta Eats	12	\$45.00	Т	\$540.00
	Total Mainlir	ne 4 Exacta	Eats - Photo Fir	ish	\$5,192.00
Mainline 5 Und	ler Stairs				
	** Furniture - TBD ** Lori sourcing 2-4 artists. What furniture is needed? Mainline 4	1	\$0.00	Т	\$0.00
	Royal Velvet Draping - Emerald Green - 40' x 8' To Block Off Dead BOH Area Mainline 5	1	\$800.00	Т	\$800.00
	Royal Velvet Draping - Emerald Green - 30' x 8' To Block Off Dead BOH Area Mainline 5	1	\$600.00	Т	\$600.00
	Tassels - TBD	2	\$10.00	Т	\$20.00
		Total Main	line 5 Under St	airs	\$1,420.00
Regency Lobby	Trophy Room				
	Slim Jim Trash Can - w. Cover	2	\$20.00	Т	\$40.00
	Draping - Double Layered w/ Center Pullback Black Stretch Velvet 30' x 12'h	1	\$420.00	T	\$420.00
	Tassel - Black	2	\$10.00	Т	\$20.00

Description		Qtty	Price		Total
	Carpet - Black - 12' x 12'	1	\$309.60	Т	\$309.60
	Vinyl Flooring - 30' x 41'	1	\$9,840.00	Т	\$9,840.00
	Stanchion, Chrome	12	\$17.50	Т	\$210.00
	Velvet Rope - Black	11	\$15.00	Т	\$165.00
	То	tal Regency	Lobby Trophy Ro	om	\$11,004.60
Regency Terrac	e - Stiiizy				
	Los Angeles Bar - 4ft For Stiizy Check In	1	\$225.00	Т	\$225.00
	Decal Full Wrap - Stiiizy Logo	1	\$95.00	Т	\$95.00
	Los Angeles Dj Booth - 6ft DJ Table Branded Stiizy for Stiizy	1	\$250.00	T	\$250.00
	Decal Full Wrap Front DJ Table Branded Stiizy for Stiizy	1	\$150.00	T	\$150.00
	Los Angeles Bar - 6ft 6' of bar fronts Logo wrapped For Stiizy	1	\$275.00	Т	\$275.00
	Decal Full Wrap Front 6' of bar fronts Logo wrapped For Stiizy	1	\$150.00	Т	\$150.00
	Los Angeles Back Bar, White 4ft	2	\$175.00	T	\$350.00
	Banquet Table, 6ft - Schoolie 6' of tables with black stretch linen to go below shelves or the bars and help bartenders. For Stiizy	1	\$15.00	T	\$15.00
	Spandex Linen - 6ft - Black - Schoolie 6' of tables with black stretch linen to go below shelves or the bars and help bartenders. For Stiizy	1	\$28.50	Т	\$28.50
	Draping - Off-White Velvet - 120' x 8'h For Stiizy	1	\$2,400.00	Т	\$2,400.00
		Total Reg	ency Terrace - Sti	iizy	\$3,938.50
Sirona's					
	Retractable Stanchion Black	7	\$40.00	Т	\$280.00
			Total Siro	na's	\$280.00
Silk's Premium					
	Highboy Cocktail Table, 30" Rnd	12	\$15.00	Т	\$180.00
			Total Silk's Premi	ium	\$180.00

Description		Qtty	Price		Total
Silk's - Wally's A	Area				
	Highboy Cocktail Table, 30" Rnd	10	\$15.00	Т	\$150.00
	Stanchion, Chrome	30	\$17.50	Т	\$525.00
	Velvet Rope - Dark Green - 6ft	29	\$20.00	Т	\$580.00
	Draping - Emerald Green Royal Velvet Dimm: 40ft x ?H	1	\$880.00	Т	\$880.00
		Tota	al Silk's - Wally's A	rea	\$2,135.00
Will Call Loung	е				
	Ava Barstool, White Boucle - Flat Top	8	\$28.00	Т	\$224.00
	Mason High Top Table - White/Gold	4	\$120.00	Т	\$480.00
		Т	otal Will Call Lou	nge	\$704.00
Winners Terrac	e				
	Barstool - Chiavari - Gold W. Ivory Cushion	27	\$19.50	T	\$526.50
	Directors Stool - Natural Seat	1	\$125.00	Т	\$125.00
	Ghost Bar Stool	1	\$14.00	Т	\$14.00
	High Top Cocktail Table - 30" Rnd	9	\$15.00	Т	\$135.00
		T	otal Winners Terr	ace	\$800.50
100 - 1 Breede	ers Cup				
	Paloma - Off White - Right Chair	2	\$200.00	Т	\$400.00
	Paloma - Off White - Left Chair	2	\$200.00	Т	\$400.00
	Paloma - Off White - Middle Chair	4	\$175.00	Т	\$700.00
	Coffee Table - Antwan - Gold	2	\$150.00	Т	\$300.00
	Directors Chair - Natural Seat	26	\$125.00	Т	\$3,250.00
	Jute Rugs - 10' x 14' * Don't Have Lori? *	2	\$0.00	Т	\$0.00
		Total 1	00 - 1 Breeders	Cup	\$5,050.00
Services					
	Trucking Fee	4	\$375.00	Т	\$1,500.00
	Install Crew Day - 3	14	\$480.00		\$6,720.00

Description		Qtty	Price	Total
	Install Crew Day - 4	14	\$480.00	\$6,720.00
	Install Crew Day - 5	8	\$480.00	\$3,840.00
	Strike Crew Saturday Night Dave & Busters	3	\$175.00	\$525.00
	Strike Crew	16	\$620.00	\$9,920.00
	1.5% W.C Fee	1	\$2,435.38	\$2,435.38
Notes			Total Products:	\$127,244.40
		Total Lal	bor/Services/Misc:	\$31,660.38
		Та	ixes (tax excempt):	\$0.00
			Discounts:	(\$0.00)

\$158,904.78

\$158,904.78

(\$0.00)

Total:

Payments:

Balance: